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ﬁf%wmﬁaﬁ,ﬁﬁﬁz%cgvﬁmqﬁwwwmﬁ%ﬁv%m%?

In electrical machines, laminated cores are used with a view to reduce

(a) TR &1fe/ Hysteresis loss

(b)y Ha¥ &I g / Eddy current loss

(c) i T By / Copper loss

(d) 3'51'{1&'?-[ H ¥ HIT 81/ None of the above

60 a7 Ud 25 aT o GHS dtecs o T vl & &) 25 af ofT &7 373 E91- / 60 W and 25 W

lamps are of the same voltage rating. The resistance of 25 W lamp is

(a) 60 @ o H Fa / Lower than 60 W Lamp
by 60 at of T & GHATT / The Same as 60 W Lamps
(c) 603 o & 31 / Higher than 60 W lamp

d) ZAHA ﬁé‘ T8l / None of the above

§Io-:FCF;. AT ey &I 3949 &Har Sar E‘f/ A breather is used in transformer

(a) &7 o fad/ for cooling

(b) AT F fuarg & forws for oil overflow
CEGEED Hq‘jﬁ & I/ to supply oil

(d) e gar g & ol /10 supply Gry air

?:l;_alﬁ'q ifRaE & 3EI'TI'§ & / The unit of magnetic flux is

(a)  daY/ Weber (b) TFERR-T/ Ampere—turn
(¢)  FeAH/ Coulomb (d) TFAT/ Tesla

s TS dell I od THY & v fSEemst sraear & A8 Sl wifgT 392 /A lead acid
battery should not be left in discharged state for long otherwise

(a) ToIc WEWhe F+T SITUSTT / Plates will become sulphated

(b)  UTAE T ar~IHIoT & ST / Acid will evaporate

(¢) <fFeer s 8 AT/ Terminals will get corroded

(d) Selrcrerse o fafdse I §¢ SITU9M / Specific gravity of the electrolyte will increase
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10.

11.

12V, 3 Ah Rfader fr v Ser @ 10 9 & AT ooy gar e grcg &Far o

el §? / The current which can be approximately drawn for 10 hours from a battery of
specification 12 V, 3 Ah is

(a)
(©

0.03 A ) 03A
0.15 A ) 15A

3T FAT §7/ Mica is

(2)  gdTelsh/ Conductor

{b)  3Idrg<h / Insulator

() Hﬁﬂﬂm / Semiconductor

(d) ‘ClTIﬂ'iﬂ'c?fEF/ Superconductor

SATTHIRT T YR & faw ?:I,‘UTﬁ 8I9TI- / For a sinusoidal wave form, form factor is
(a) .11 (b) 1.00

¢y 222 (d) 0.55

Hiecaied H T & T Fa7T 8T §1ar? / An alternator doesn’t contain one of the following

()
(©

SATEHT 80 V M & N f&aater @7 r.m.s. AT BI9T- / The r.m.s. value of sinusoidal 80 V peak .

era Ra1/ slip-ring (b) m;&a/ Commutator
& JOTTelT / field system (d) 3T/ Armature

-to-peak signal is

(@)
©

80/22.7 (by 80/2
402 (dy 80

ATTHTS o d¢=T T oITe T a4 / With increase in temperature, the resistance of copper

(@)
(b)
©
(d)

Hgedl 8/ Decreases

FTar g / Increases
LT & ST 8/ Becomes zero
El'é)f 1gdl %‘ / Remains constant
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>.

12.

13.

14,

15.

16.

HRUHT TR & felT, 31eRier Agfed / For RLC Circuit, resonance frequency
(a) L HTUHAH § TUT HAWIFA Focol T FAHE

Current is maximum and is in phase with applied voltage
(b) e 3iftaw & A 5 IeTged dlecaT & TT BIC HIoT F G g ST &
Current is maximum but it lags behind by small angle with the applied voltage
(c) N TgTAH & AU TSI dleco o HIY ol H &
Current is minimum and is in phase with applied voltage
(d) Y TAA & TAT TG BIC HI0T  I9gFc dlecsl & 38

Current is minimum and it leads the applied voltage by a small angle

=1 7 @ v o9 &1 3@y AT ae gem? / Which of the following bulbs will have the least

resistance?

@ 220V,60 W (b) 115V,60W
© 115V,100W d 220V, 100 W

HRAH EI'Q?—[\E":}&?I & fow Sgerd T mﬁ $r mj??r BIcir 8- / The frequency of A.C. supply

used in India for domestic purposes is

(@ 250z (b) 50Hz
(¢) 60Hz (d) 100Hz

37STET o L9T T H &ATw 8 fohaert yiafafaea sar 272 / In the colour code for resistor, number
8 is represented by

(@) AT /Blue (b) AR Orange
(c) W Grey (d) ST /Violet

& dehfeus e NEHT a0y ¥ Tarfed giar & df Soifagdhel Uiay a1 7 dger 1 g, foa

FEd &- / The electrical power converted into heat when an alternating current flows through an

ohmic resistance is
(a) ¥ qrax / True Power (b) © e araX / Apperant Power
© Rufdea qfav / Reactive Power (d) Bife qiaY / Heating Power
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E

18.

I9.

20.

21.

20 Q% AT A Y 10 A T TaTg Tget o Rt 21fFey B Tl 81902 / Power taken by a

resistance of 20 Q with a flow of 10 A current is

(a)
(©

2 kW (b) 0.025 kW
0.02 kW @ 02kw

gfadifa o & ST ufax 0T H qur ol WriTIes fafr & / A practical method to improve

the lagging power factor of a fluorescent lamp is to

(a)
(b)
(©
(d)

AT H aeesT der ¢ / Increase the voltage across the lamp

ek FuffeT dvufee o S1g / Connect a capacitor across the lamp circuit
aféhe & gry Aofr ORI FE / Connect a capacitor in series with the circuit
v gfhe O IR Al Gﬁ%’ / Connect an inductor across the lamp circuit

1 kw, 250V%mﬁaﬁmwmﬁmnmwﬁﬁ?/Fourheaters of

rating 1 KW, 250 V each are available. How will you connect them for maximum heat?

()
(b)
(©
(d)

3T H ST I/ all in series

AR 3 T/ all in parallel

&l FAAI SIS & ITIHH H ST F / with two parallel pairs in series

T HATATGR NS &t 3 &7 & q1er IIHH H 9 T / one pair in paralle]l with other

two In series

qfay ;rl'cﬁﬂf!T HT &TH AT grarg/ Efficiency of a power transformer is of the order of

()
(©

oT3T39T / About 50 % (b)  ®TIT3T/ About 75 %
SfITHIT / About 98 % (d) ©I9T313T/ About 100 %

TEr %ﬁﬁm T QTR T 3T 21T sirar 87 / Power factor of an A.C. circuit is given

by
(a)
(b)
(c)
(d)

31aIET / GTETeN / resistance/ impedance

AT T / IR AFT / real power / apparent power
ferel afe / fret dlee efdvm / kw/kva

SoTH T T3/ all of these
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22.

23.

24,

25.

26.

27.

%mﬁ@amﬁﬁﬁmmﬁgﬁmﬁmmmmmﬁw In which of

the following motors, external resistance can be added to start the motor?

(2) AfeIuee uier [HAT A / A salient pole synchronous motor
(b) TEouReTEsRE AT/ A slip ring induction motor

(c)  TFAA dhol S5aAT AT / A squirrel cage induction motor
(d) a1338 VX [T Al / A wound rotor synchronous motor

T AT ;‘IGTI'TI?EIT FATTAAATE?/ A step-up transformer increases

(a) dleca/ Voltage (b) ﬁ?@jﬁ?ﬁﬁ»’/ Current
(c)  UTFA/ Power (d) 3MgTed /Frequency

mv&am%ﬁ@ﬁﬁaﬁwmmaﬁqﬁwﬁaﬁmm& a1fes- / Synchronous

motor is installed at receiving end of substation to

(@ WuEd Qf[a?-lﬂ ToRaT ST T&F / Improve the P.F

(b)  HEECRAT dlecal ol FEUT TWT ST T / Stabilize the substation voltage
(c) 3'CI'!;I>H~T-I' 1=t fshaTU T ST Feh / Perform both of above functions

(d) T g o FF FA F FOT FET/ Perform none of functions

HIfteT & R o vflE et & soacide f1 Uy Fdr 81 22 / During charging, the

electrolyte of a lead acid cell becomes

(a)  Holgd / Stronger (b) FHHSR / Weaker

(c) YT/ Water (d) Ydclell / Diluted

geiiaganel lhe & RAaar AHAGIR W) SART ST STl 1 / Continuity of an
electrical circuit is usually checked by

(a) 3EHTT / Ohm meter (b) AT/ Ammeter

() dIecHRT/ Volt meter (d) FIR/Megger

gy mﬂfﬁ H O &1 39T oy Tow giar %"? / Oil is used in a power transformer for

(a) B/ Lubrication (b) NTaA/ Cooling

(¢) 3MAUY/ Resistance (d) IS 3LI B/ No purpose
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28.

29.

30.

31.

32.

3 Wt 4 AT QaT & FT ReafafQT 7 q FA-A1 SRR Helale qifn IUgFd &7

Which of the following transformer connections are best suited for 3 phases, 4 wire services?
(a A-A (by A-Y

) Y-A (d) SIH T HS G / None of the above

319 31T 3] drIY Rl TP o gt 3mend §iar & / The size of earth or ground wire is based
on the:

(a) 34"\@' q gl d{l}d{ﬁ T aIT B ST gTelt 3T &% 9RT / Maximum fault current

carrying through the ground wire

(by ITaG ATSA hi 8T FT aTgh JHoqHd ¢IRT / Rated current carrying capacity of the service
line

(c) Har 3 WX / Depends on the soil resistance

(d) (a) AT (c) =1/ Both (a) and (¢)

FIE TTHBH T AT I g A Ugel IHET Aohad ATE Fihe Sl ST AT T ofifeh ———

T JIRT ST Teh | / Before removing the ammeter from a current transformer its secondary must be
short circuited in order to avoid
() BRH 3rcAf8e a1 / Excessive heating of the core

(by @I Behsdl e.m.f/ High secondary e.m.f
(c) g gl H E(l_'li'( / Increase in iron losses
(d)  39gFT HN/ All of the above

S AIR &I el T & & {1 Y af ATYT AT 3SR BI9T- / When the pointer of a Megger reads
close to zero, the resistance being measured is
(a)  SATET IH / Overheated (b) AT / High

(c) &/ Small (d) S Gl / Faulty

TR F TAAG v&de & g6y J Rrafaf@a § § sia-ar FU ¥6r 781 §2/ Of the
following statements concerning parallel operation of transformer, the one which is not correct is

(a) CTEBTAT A AT arecT A0 glell TIfg T / Transformers must have equal voltage ratings
(b) mq?lﬁ? H ?j'&l’qTIﬁQl?f T FHTeT ATl 1T AT / Transformers must have same ratio

of transformation

(¢ HEged W aHEd CHEHEHR YaTfeid T STeT a1fgT / Same Transformers must be

operated at the frequency

(d) STHPRER $r kVA AUl AT il T1gT / Transformers must have equal kVA ratings
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33.

34.

35.

36.

37.

38.

@WWWM&@HHQW%WWM&?%I ETIWEFITUT?T—/In some

fluorescent lamp installations, wheels of rotating machinery appear to be stationary due to

(a) TGRS JIIG / Stroboscopic effect

(b) BIEBINHET / Phosphorescence

() THIE Tfehe Uty ded / Poor circuit power factor
(d) GlecoT @ FH EHTCI‘ﬁ / Low voltage supply

T §'IFEFI'JEIT I AT 9= o forw foRam Smar B / Current transformers are
used for measurement of

(a) EHTEE%T ! Frequency (b) dlecoT / Voltage

(c) T/ Current (d) ?IU'I'IEI:I?-F / Harmonics

R G 3110 Téranar O forad AT 1 gohar % ? / The resistance can be measured most
accurately by
(a) dAlecHET-IATCL [9f8 / Voltmeter-ammeter method

(by fooT [T / Bridge method
(c) HeCIHI / Multimeter
(d) FIR/ Megger

f&arer ot HeX 1 vak faRIwar g1 & T96- / One of the characteristics of a single phase motor is that it
(@) I T A IS gl / is self starting

(by TG TA: AT TE! Bicll &1/ is not self starting

(c) SIHHAFTH aIETEaT T IMG2YehdT BIcil § | / requires only one winding

(d) TFAFTH AT H qH Hehell &1 / can rotate in one direction only

U oo SIS g fow water fonam STar 8/ A Zener diode is used for
(a) diecsl [afaTHT / Voltage Regulation  (b) TR/ Rectification
(c) T@TIB/ Noise Suppression (d) AC oIl TehaT / Blocking A.C

f¥iarer T g5areRT Hie & A= dr fger SaRT GATS ST Tehell §1 / The

direction of rotation of a single phase inductton motor can be reversed by
(2)  Grell ArSf3aT o FHeAhT & Scha YT / reversing the connection of both windings

(b) TRET TSS9 HeAehad & 3chHAUT / reversing the connection of staring winding
(c) 31Tfj'\ﬁ' Tkl o ScehHT / reversing supply connections
(d)  3csha0T TEad & 3UTIET / using a reversing switch
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39.

40.

41.

42.

43,

44,

3% oot Gfehe st Euarddn) fFasF Agid 9 T war g7 / Earth Leakage Circuit
Breaker (ELCB) works on the principle of

(a)  3TUHR YRT/ Over load current (b) o AR YR/ Short load current
(c)  37AfdsT YRT/ Residual current (d) TR &Y / Neutral cwrrent

T CAR hafafea &g 230 dlec, S0 Hz ac mﬁ q SEl &, &8 &7 p.L I9M- / A pure capacitive
load is connected in across 230 volt, 50 Hz a.c supply, the p.f of the load is

() FI/ ZLero (b) q\ﬁlﬁ'/ unity

() IS5 (dy 05

weh quT o7 SRR H disl T §IH 1600W &1 HTE SIS 9 a1l 7 g1 fohct=1T g1 SITwan / The
full load copper loss of a transformer is 1600W. At half-load the copper loss will be

(@)  6400W (b) 1600W
) 800W (d) 400W

YiaeTeNr T 1S § / Units of Impedance is

(a) oI/ Henry

(b) dlc/ Watts

(c) 3IEH /Ohms

(d) 3%':!;511?[ gl & FROT, SHRT Ehﬁ_é' éﬂé el glarg / Being a ratio, it does not have any
units

fPrafafaa & & F2r #Ra 7 el & 3gfd & v A atedst 8 82 / Which of the
following is not standard voltage for power supply in India?

(@ 11kV (b) 33kV

(c) 66kV (dy 122kV

F AT THBER W) HIg A5 ¢TI 6T fohdT ST &1 / No load test on a

transformer is carried out to determine.
(a) I g1feT / copper loss

(b)  HIC U DI gifed ahl ?:l;clm' AT / magnetizing current and copper losses
(c) E Ud PIS-olig gIfet &1 Pl ﬂ'&%ﬁ el / magnetizing current and no — Joad loss
(d) ;'IG’CFB{IT &r &THAT / efficiency of the transformer
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45.

46.

47.

48.

49,

?A."i'\fl'q?l?’fﬁ =) 3333( O 37 uREdg FI%T BT §2/Which of the following does not change in a

transformer?

(a) ST/ Current (b) dledH / Voltage
(¢)  3Mgfed/ Frequency (d) IWIFT THAT / All of the above

U&h IR 88fFeq g 230 glec, 50 Hz ac am,fé‘r a EEN g, AS FIp.LERN-/ A pure inductive

load is connected across 230 volt, 50 Hz a.c supply , the p.f of the load is

@ YA/ Zero (b) IFET/ Unity
) 1.5 (d) 05

UAHTEIST &7 C‘T\U% ¥ §- / Expansion of MCCB is

(a) HIcss HF Afhe 3T / Moulded Case Circuit Breaker
(b) HA T TFHT §T / Main Case Circuit Breaker

(c)  Hd Herel Gihe SHT / Main Control Circuit Breaker
(d) HT®c Tfhe SHT / Main Current Circuit Breaker

;'i'\':l'q?ﬂfﬂ H, &g dfsier Aafafaa aEfEr o %??I’ gl 1/ In transformers, the Tap changing

are connected to following winding

(a) UHE TWIFE aFfE9/ HT Side winding

(b) mmsgmé%'w LT Side windings

(c)  THEN IUAT Ueler arafaar / Either HT or LT windings
(d) ETH A RS HST / None of the above

Ao 7 8l T1f8T / A voltmeter should have

(@) e ATTRE 3EET / Low internal resistance
(b) 3T AR G / High internal resistance

(c) SHECIELTE Tol / Electrostatic plates
() TdEAMT TFEIANERT / A sensitive amplifier
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50.

51,

52.

53.

54.

87 3TN TV HIeT HAEEAT H FUT 3Heh °RT 3R FohcleAT §19T1? / Value of Earth Resistance in and

around Substation shall be around |

(a) W1 IMEFT T 2 3EF/ Around | Ohm to 2 Ohms

(b) 5 3NEF T 10 3MeH & T / Between 5 Ohms to 10 Ohms

(¢) 25 3NEAY 100 3NEH F e / Between 25 Ohms to 100 Ohms
(d) 100 3EH ¥ TSI / More than 100 Ohms

forey 39eRIOT Y YI&TT & TIT a1 Afwrar waAEsll 7 YT 1T §- / The ‘B’ series MCB’s used

to protect the equipment is

(@ IR/ Geyser (b) TIR FHBIRAT/ Air conditioner
(c) <RAIed / Locomotives (d) HIET/ Motor
iR afad Jerr woTel (FUeE) —asmﬁaﬁﬁ%maﬁr{gmaxﬁmwﬁ

W‘é‘ ST &1 / Uninterrupted Power supply System (UPS) is provided to protect critical loads
against

() H&A HIEG] 3ﬂ'q‘jﬁ I §TTeT / Loss of Mains Power Supply

(b)  dlecoT ol HTQfﬁ H T 3R aﬁg’/ Sags and Swells in Supply Voltage

(c) 3=t mﬁraﬂgﬁ 3 &3f0ThdT / Transients in Incoming supply

(d)  39dad el / All of the above '

g8l FIeT &Y 91T / The speed of an induction motor

(@) HRET aj? & TTY AT &3 8 & / Decreases too much with the increase of load
(by H#R &T E(Ijﬁ' & AT F&dT & / Increase with the increase of load

() HRH E(Iﬁ( o T UIST TY S Bl & / Decreases slightly with the increase of load

(d) HRH q@' U FTad {gcT & / Remains constant with the increase of load

fafmer affe 350 (uEdE) & 9fRT o7Far AAFad: 81T 8- / Breaking Capacity of
Miniature Circuit Breaker (MCB) is generally

(a) 10kAdeh/Upto 10kA {(b) 100 kA dsh/Upto 100 kA
(¢©) 2kAIJFHA/Below 2 kA (d) 100 kA ¥ SITET / More than 100 kA
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55.

56.

57.

58.

59.

1-U5aT ZFereT Al Y 33 a1 glciT &/ The starting torque of a 1-phase induction motor is

(a) 3Td/High (b) HEIH/Medium
(c) T/ Low | (d) @I/ Zero

415 v, LT fa¥ed & fov 5 ger & afée ST 7 y2her far sirar £7 / Which type of
Circuit Breaker is used for 415 V, LT System?

(a) TR IRRT T/ Air Circuit Breakers

(b) a_q'“q‘\?l' Tfhe 8T / Vacuum Circuit Breakers

(c) THURGE FTHE ST / SF6 Circuit Breakers

d) fAfHAF 3MTe afdhe §9% / Minimum Oil Circuit Breakers

LED &7 32T & / LED stands for

(a) ST 3cHIH YGeleT / Light Emitting Display
(b)  ToToeT FolT 9edieT / Low Energy Display

(c)  ©NSC 3cHoih SIS/ Light Emitting Diode
(d)" <ITST 3@ f3eFe / Light Emitting Detector

T S5 AlEY H T AT Y a1 o= T IHT ———— salel F T glar &1 / The
effect of increasing the length of the air gap in an induction motor will be to increase
(@) fFg [uTeh / Power factor (b) 91feT/ Speed

(c) ?:Igﬁﬁ'a—rr Hic/ Magnetizing current (@) TR Foray / Air-gap flux

shelel Afthe TR &, WHIT: Follog Ficae & 31 8- / In the control circuit wiring, the
meaning of Normally Closed contact means
(@ o & walt sraeanst F Fitge Fdoe TuRr A wary
., Contacts remain in closed condition in all the statues of relay
(b) WWG#%WE‘&EWWQTW@HW%
Contacts open when the relay coil is de energized
(©) el IgeT 1 gReTgos BT Set IR it et STren &
Contacts open when the relay coil is energized
@) et FIger &l B seges o 99 W Sicae s ey Sary

Contacts close when the relay coil is de energized
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60.

61.

62.

63.

- 64,

CTIARER & Tohadl dlecsT HI 31'@% 81 / The frequency of the secondary voltage of a
transformer will be

(@) UTEFI dlecsT T 3-113‘"% A SR /Less than the frequency of the pfimary voltage

(b)  YTBAYT GfecsT & aXTaX / Equal to the primary voltage

(c) WISHRT alecet &Y BTHﬁ O 3178 / Greater than the frequency of the primary voltage

(d) OISR diede Hr 311‘{???—7 T &ThT 3T8H / Very much greater than the frequency of the

primary voltage

Y Y AT 3fRcafda &/ The general expression for Resistance

(a) R=pl/A (by R=pA
(c) R=pAll (d) R=plVA

S U {397 1A 3= 371G & YHT=dT Sier il &, ﬁﬁﬂﬁmﬂaﬁn—/wmn a

low resistance is connected in parallel with a high resistance, the combined resistance is

(a) THUATITT AU Q FART / Always more than thé high resistance

(b) BT AT 3R T a7/ Always less than the low resistance

(c)  BHAT 3TT HAUY 3N o= 3/a0y & =/ Always between the high resistance & low

resistance

(d) 3T 3G & AT & TR W A7 3R T A1 A S 3YUaT SUET / EBither lower

or higher than low resistance depending on the value of high resistance

U HET 3F el & gl g 916l gl WO 3EF 3 T AT Ecaretor & A
8T & / The Value of specific gravity of acid when a lead acid battery is fully charged is

(@  1.285 (b) 2.185
©  2.585 ) 2.9585

Teh aTaX T IR ¢ HEA 1 AR H ST o T garer Wier e §, av ed # gaan
3aRIE BI9T- / Resistance of a wire is r ohms. The wire is stretched to double its length and then
its resistance in ohms is

(@ 12 (b) 4r
© Z (d)y r/4
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65.

66.

67.

68.

69.

SF6TTE/SF6 gas is
(@) T FeiRISs / Sulphur Fluoride
(b)  FeW{ SAFARTES / Sulphur Difluoride

(c) T gFATFARISS / Sulphur Hexafluoride
(d) m@w H &g A&7 / None of the above

T Al wihe & Tl et 7 eafaf@d & O Reaer A9 AT BN / Which of the

following value will remain the same in all parts of a series circuit?

(@  dieesT / Voltage (b) T/ Current
(c)  TFd/ Power ' (d) 31GRIET / Resistance

TR 81 H &Y T TAX FTIT ST &/ The level of illumination in a area is measured using

(a)  dalc # eI A/ Watt meter (b) FFT AT F/ Lux meter
(c) == e T/ Nano meter (d) FEEr MeT T/ Multi meter

0.7 AT o p.f. ATl THT Wihe T 3AYE 200 kVA §) TfFe gart off S arehr ik grefr- /

The tnput of an ac circuit having p.f. of 0.7 lagging is 200 kVA . The power drawn by the circuit
is

(a) 180 kW (b) 140kW
() 200kW (d 14kW

"gj?l'q?lﬁT H 31fean gavar & for Rya Eﬂ?ﬁ % / For a transformer the condition for maximum

gfﬁciency is

). REREwsm=tdIaic /Hysteresis loss = eddy current
(b) ARG = REERTAT &1 / Core loss = Hysteresis loss
(c) T gRT =R &1 / Copper loss = Core loss

(d)  FHETFH =2/3 x el g1/ Total loss = 2/3 x copper loss
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70. Aadia feem # 3 %t 5‘?@%13 HITT TelleT T FAT FHIROT 57 / What is the cause of running a

3 Phase induction motor in the reverse direction?

(a) diecol Hﬂ(ﬁ HelsTor e / Supply voltage is not correct

(b) HArITH TR e T IRl BT 76T & / Starting method of the motor is not correct

(c) mﬁ SlTgeT T Teh Tl 35 AT & / One fuse of the supply line blown

(d} Hthﬁ ATS+T T B shiH Jelcl B IRAT§ / Phase sequence of the supply line got reversed

7. gfée st 3 UHT ATETH 5 FT H ool T 14 81T 8- / In the circuit breakers, oil as quenching
medium has the advantage of

(a) =T Aidelet 0T T4 3715 Fal &l IIARMNUT / Good cooling properties and absorption of
arc energy
(by 3zd CITI'aEEFT &THAT / High dielectric strength

(c) iaa}gailiﬂ & ®TH F / Acting as an Insulator
(d) ECI'{-SIDEFHW / All of the above

2. goEfdTrsRaAFc T s gfhcd —— FATH A ST S § 1 / The
current from the stator of an alternator is taken out to the external load circuit through
(2) & Rar/ Slip rings (b) wgéa JITHT / Commutator segments

(c) @IS shaarela / Solid connections (d) TS 5T/ Carbon brushes

73. %T:HT 37Fcl IUT Hohlall Sl UHTT fFaH AU 8T 82 / The effect of smoke acid and alkali is

negligible
(2) ERTH AR /TRS wire (b) ISR FR / VIR wire
(¢) WllaFaae gAY/ Flexible wire (d) oS AU G/ Lead sheathed wire
74 gely dieest FI A UG Gid dice s I Tk Al Gfde F U s W ———— F SRE Bl

&1/ All the voltage drops and the source voltage added together in a series cireuit is equal to

(@ 3o et AT/ The total of the voltage drops

(b) AT drecst / The source voltage

© I/ Zero

(d) G drecsl Ud dicesT HHT AT AT/ The total of the source voltage and the voltage drops
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75.

76.

77.

78.

79.

e BereT T aanRg s & v HFI}TIFT / Load factor is defined as the ratio of

(a)  JTIdH AR AT AT/ Max demand/Average demand

(b) 3T ART/ FANTAT 91X / Average demand/Connected load
(c) 3irme ART/ 3¥SAH AT/ Average demand/Max. demand
) TTIT 9/ 31Thds ART / Connected load/Max demand

/4 rad 7 foraaiy 39t 81t 82 / How many degrees are there in m/4 rad?

(a)  90° (b) 45°
(¢) 180° (d) 120°

16 T WISl §id Wihe T FHT ST T HUFATH ITHA dicsT 41 ga? / What is the

maximum permissible wattage of all the appliance on 16 A — fuse branch-circuit?

() 3.0kW (b) 3.9kW
€) 40kW - d 5.0kW

Uh H@ﬁ?r 21’[—‘}73 BeeH ﬁ, SrecoT fordsr 3t fovam Sran %’? /' In a balanced three-phase

system, the voltages are separated by

(a) 45° (by 90°
(¢ 120° (d) 180°
Teh TS HTeI §IaT §/ A Tsolator is

(a)  9TaY bhaed TUR 39189 / Power factor correcting device
(b) TIfATE F NG HT AT el drell (3a18 / A device to neutralize the effect of

transients

(c) UFaEr qar =T arell [3aT8d / A wave form correcting device
(@) T HiSE FTH o197 SaAaren 3AST / A Physically disconnecting device
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80.

81.

82.

83.

84.

T Y-Y FId/als 90T H, / In a Y-Y source/load configuration, the
(a) wA Fic, ASd FC T ol Fic gl ol & WA gid &1 / Phase current, the line

current, and the load current are all equal in each phase

(b) el FC, RIEG) Hic UF AT T 120° el & F167 ET@T 21 / Phase current, the line
current, and the load current are 120° out of phase

(©) el YT TG oS i ot # 1A § T2 ST &1 a8 T H 120° B & qEI gl o /
Phase current and the line current are in phase, and both are 120° out of phase with the
load current

d) e Fe UF o wie ol F gid § aur AT %t Rl H Uet F AEY B 21 / Line

current and the load current are in phase, and both are out of phase with the phase current

50 V Qid a7 5 MQ 37610% Ired fehe & ggar ﬁa:{?lg?f 9drg / The current flowing through a

circuit with a 50 V source and 5 MQ of resistance is

(@) 10pA (b) 100 mA
() 10mA (@) 360 pA

TedTHTeR (Tdi3i Hiex) Ardar §- / A Multimeter (AVO meter) measures

(a) FYC / Current

(b)  dIe¢ST/ Voltage

(c)  3TeRIY/ Resistance

(d) e, decsl, AT 31aR0E / Current, voltage, and resistance

Teh IR ST 31ERIE 2 ohms &1 $H AR I YTTa @S garell X &1 ST oY THAT T g /

Resistance of a wire is 2 ohms. The wire is sfretched to double its length then its resistance in
ohms is

(a) 1 (b 8
() 4 (d 05

UF TfET ST L / A circuit breaker is a

(a) HATFITYST/ Fuse only

(b) AT YUFRRT T / Isolating Switch only

(¢) Tah q;rrm'zrrfﬁ?r TIETTEHSE 3YRI0T/ A Resettable protective device
(d) 37U/ Resistor
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85.

86.

87.

88.

89.

3ﬂﬁrmﬁmmqﬁﬁiW%WW%@HWW@Inathree—phage

system, when the loads are perfectly balanced, the neutral current is
(@) YA/ Zero

(b)  3THAH TR HTTH ﬁ:'l%'lé/ one third of maximum load

©  3fOFga 9 FTer TAgTS / two third of maximum load

@)  HfEFIH / Maximum

3N gie fhde fHolaie & SeY BIaT 87/ A half-watt is equal to how many milliwatts?

(a) 5,000 mW (b) 5SmWwW
(c) 500mW (dy S0mW

220 V arel gIeX &l 110 V I 39T et U 3o BﬁF\fa'lﬁT 3°0TAT / A 220 volt heater is used
on 110 volt supply , heat produced by will be

(a)  3TET/ One-half (b} g%lﬁl / Twice

(c) U dI2Mg / One-fourth (d) e/ Four-times

T & U T 969 Gt §- / Sweep of a ceiling fan refers to

(@) B EE:FI' * dcd &1 e ar @/ Radius of the circle formed by its rotation
(b) I3 FI FETS T g1 / Double the length of the blade
(c) HARTF Fg T seis I AT Hr E@'I The distance from centre of motor to tip of blade

(d) FIRI P g A colg & FT AT ?‘I?-ﬂ' {ﬁ / Double the distance from centre of motor to
tip of the biade

ﬁ'c{ﬂﬁ ST hr UGS ShIS T 87 / What is the commercial unit of electrical energy?

(a) HIW gie ger/ Mega Watt Hour
(b) TRelr are 'er/ Kilo Watt Hour
(c) die geT/ Watt Hour

(d) dle Tehg / Watt second
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90.

9l.

92.

93.

AT & & s RufFea dfay 1 #19e) 1 gaTS &~ / Which of the following is the unit for

measurement of reactive power?

@ VA | (b)  Watts
© VAR @ KWH

TS 4-G1eT Tf1eT et 0T AT 30 revls U Jearehiiond a1t §1 TeX & fore amgfed it amafea

T §1911? / A 4-pole three-phase induction motor has a synchronous speed of 30 rev/s. What will

the frequency of the supply to the stator?

@ 60z (b) 1001z
(¢} 50Hz d) 12.5Hz

3%%%%%wwmm%aﬁmmaﬁaﬁm$m%mm

§7 / What is the effect of single phasing on a 3 Phase motors if it occurs at the time of starting a

motor?

(a)  HICTFHA AT T T/ Motor runs at low speed
(b)y Hied Ix ST8T BI91T 372737 & ST / Motor fails to starts or stalls

(c) HITI TAEZ Ifd I Torl %@' IR AT o ITUsiT / Motor runs at normal speed but fails to
take load
(@ HARIHITITEH g'é’ T TR 31T & THI FA9N9TT / Motor takes time to come to rated speed

%l@' 1G] ﬁ\_ﬂﬁf Hl— %I / Pure water is electrically

(a)  3=BT HaTelsh / Good conductor
(b) T YTeleh / Bad conductor

(c) Hﬁﬂ'ﬂm/ Semiconductor
(d) 9Tl / Superconductor
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94 T & R IRH H —— eaRT eI foham S1ar €1/ The size of the feeder is
determined primarily by
(a)  h{C Sliih of STlel o folT 3G & / The current it is required to carry
(b) WISTH el & Ufaerd &1 TAf&ErT/ The percent variation of voltage in the feeder
(c) HISIFrdieca / The voltage across the feeder
(d) YHROT @ ?{?f / The distance of transmission

95. EGl e e Crers) Eﬁmﬁ? T ST LT 81T &7 / In which of the following electrolysis is not
used?
(a)  SoIFCICATEdT / Electroplating
(b)  SAFCICBIUAT / Electrotyping
(c)  HesRaT/ Soldering
(@) Selear GIffRAT / Blectro polishing

9.  wan gaifdee AT foraH el 09 WX 817 U WY ¥Ad &, FEA &1 /
An electric motor in which rotor and stator fields rotate simultaneously is called a
moftor.
(@ 3T /DC
(b)  STFT / Induction
(c) TO=RITTH / Synchronous
(d) Zjﬁaﬁﬂ'/ Universal

97. we dieT TOT OXUT AleY g feRa s dFmaa g /na three-phase induction

motor. Which of the following statement is false?

(@ odfoifa FIDFHTJF@T:F I AEAT e I & / The slip speed is the synchronous speed

minus the rotor speed

ib) TeX 1S Y &, f8eTT SA1eT 81 AT & / As the rotor is loaded, the slip increases
(c) AT WX oiis & 1 U I S.TA.TF. &iT Ej_'%' hr 3Tl_q:I—T:H / The frequency of induced

rotor e.m.f.’s increases with load on the rotor

() TVRRAFR ﬂaﬁﬁ'ﬂ' &1 Tl aTcdrT T aalg ¥ & / The torque on the rotor is due to the

interaction of magnetic fields
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98.

99.

100.

faeelis &7 e & 99H & ey F Hl9-97 U Ter §? / Which statement regarding
Kirchoff’s Current Law (KCL) is correct?

(a)

(b)

(©

(@

Eiaa\cra{wﬁr%rﬁ,aﬁ@aﬁmﬁaﬂmamﬁaﬁ%ﬂﬂmwaﬁm%/ma

closed loop or mesh, sum of voltage drop or voltage rise is zero

Hfehe & A8 W, e H IAS T BIaT & / At the node of a circuit, summation of current

is zero

Teh SaeleT ot 3R Uaifgd gl aTell hic AT SIeRT B [oehelsl dTel e A FH BT & /
Current flowing towards a junction is always lesser than the current leaving the junction

STarersT Y 3T YaTied BleT aTeT Hie gHel Sl O [oerde aTel Sie @ T8 giar el /

Current flowing towards a junction is always more than the current leaving the junction

T Uo7 Arex Fr F& 1fa & w0 7 gReni¥a fovar ST Wahdr §: / The slip speed of an induction

motor may be defined as the

(2)
(b)
©
(d)

3 ol 3T AleT & waTd & Qgid Jfwea:

e 31T U 3410 9red + SRERET / Number of pairs of poles + frequency

e TS - fAsiAd TS / Rotor speed — synchronous speed
e T15 -+ THsplerd T8 / Rotor speed + synchronous speed
Frspierar Tftg — AT TNE / Synchronous speed — rotor speed

principle of operation of a 3 phase induction motor is most similar to that of a

(@)
(b)
(©
(d)

fA@ew AeX / Synchronous motor
o L . . .
RUedeT FCIC §320« HICY / Repulsion start induction motor

QES Hehssl o |TT Qﬂ"ﬁlﬁ? / Transformer with a shorted secondary
T T E’E’EFQI?-T e HAIZY / Capacitor start induction run motor

& AT 8T &1 / The
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Fet B & oY T/ Space for rough work
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10.

11.

12.

mﬁﬁaﬁmW%Wg’MWHWWW(A/B/C/D/E)Wm e
#Wﬁﬁwmwmaﬁmﬁ%lﬁmamw,mmaﬁraﬁaﬁaﬁ
STTEatT|

Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is
mandatory to be written on the OMR sheet in the box and bubble appropriately. Failing
which, the answer sheet will not be evaluated.

Waﬁw%w&nmtmaaﬁﬂaﬁ(ﬂ)ﬁ@maﬂtmmw

(-0.25) 3t Fa fHar SToIm|

Each correct answer will carry one (+1) mark; Zero (0) for no answer and (-0.25}
for a wrong answer.

Tl off UeeT & Tolv & [AFedl &I I W 3cal T AT ST
Multiple answers for a question will be regarded as a wrong answer.

INTANR e A caergas fod)| afoRea HMvasm i veer w8 & smeeh|
Marking in OMR must be done with utmost care. No spare OMR sheet will be provided.

TG, AlCH 31fE, a1 ety a8 & e

Computers, Calculators, mobile phones, reference books, logarithm table, electronic
gadgets etc. will not be allowed inside the Examination Hall.

SR Bl W OUeT UF H IUCS TART HT GANT 6 S F AT BFar o7 gedr &) HiE
HiaRkea ofic 76 &r st

Space available in the Question Booklet can be used for rough work, if required. No
separate sheet will be provided.

3FHEER $I I8N & ugel ©E & R qlET giel SIS Y AT el B

Candidate are not permitted to leave the Examination Hall during the first one hour of
the examination.

" 3rfiAR B S FE O a9 e w1 goE B () g Rfve (i) g AR wew

(gCelihe 3NTANT U 3FAIGEN 39+ U T@ Fhell ¢ |)

Candidate should hand over the following to the invigilator when asked: (i) Hall-Ticket
(i) Original OMR sheet (copy of the OMR sheet to be retained by the candidate).
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